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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt

of this question paper.

Attempt any 5 questions.
Part of the questions are to be attempted to’gethef,
All questions carry equal marks.

Use of a simple calculator allowé‘d

'Answers may be written either in English or H1nd1

but the same medium should be used throughout the

~ paper.
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(a) (i) Are interest payments on Nat10na1 Debt

counted as part of the Gross Domestic

Product? Give ‘reasons.

(ii) A payment of £10,000 is made by an Indian
citizen for dinner at a Thai restaurant in
Thailand by Visa credit card. How is this

transaction accounted for in the balance of
payments account of Ind1a‘7 | (4)

(b) A bond provides -to pay 2100 in one yéar:

(1) W.hat is the interest raté on the bond if its
price today is ¥75 and ¥909?
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(ii) If the interest rate is 8%, what is the price
of the bond today? (4)

(c) () Analyse the effect of a reduction in ‘the

marginal income taX rate on output,

employment and the price level in the

Classwal model with suitable diagrams.

- (ii) What are the various stages in.the monetary

transmission mechamsm‘7 | (7,3) -
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2. (a) Use the following data to calculate private,

- government and national savings :

GDP = 7000.

Net factor payments from abroad = -70
Consumption = 4480 -
Government purchases = 1400

Interest payments on government debt = 210
Taxes = 2450
Transfers = 1050 Bl : . G

" (b) If the central bank follows an expansionary open
market operation, how does it affect the money

supply in the ecﬁonomy? Explain. - (4)
“(¢) (i) Given the following information:

"Consumption C = 80+0.75Yd

- InvestmentvI = 100
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Government Expenditure G = 200
Transfer Payments TR = 100
Tax t = .20

(a) Calculate the equilibrium level of income

and the multiplier.

(b) Write the saving function and calculate

the level of saving.

(c) Calculate the budgét surplus.

* (d) Suppose that t increases to 0.25, what is

the new equilibrium 1income and

multiplier?

- (11) Using the IS-LM model, derive t"he. aggregate

demand curve. - (7,3)

(o) o, et ot g e R e @ e P

GDP = 7000

JTHAT = 4480

wE WA = 1400

P.T.O.



5137 ‘ 6
FIT W= YWAaw = 210

FX = 2450

BEIERT = 1050

TR FH B? S =%
(™ () ﬁwﬁﬁamaﬁ:
- ST (C) = 80+0.75Yd
W@ -10
R = (G5=200 ‘_
| B AT (TR) = 100
= T = .20 |
 (a0) o F g s g
() v worT RRd SR T ® R A A0 R
(¥) aoic AR @t w0 w
(?«')W?-ﬁﬁw%tmo.zss‘rm?,a‘m%
| Gge I R U @ BY



5137 7
(ii) IS-LMWWWW,@WWW
W

3. (a) What is national wealth? How is national wealth

linked to national saving? S | (4)

N
AN

\
(b) How is the rate of interest determlned by the

demand and supply of money? What happens to
‘ falls? Use a

)

‘the interest rate if nominal income.

suitable diagram.

(c) Given the followmg 1nformat10n
Consumptlon C = 100+0. 8Yd
Investment I = 400-50i | e i
Government Expendlture G = 500
Tax t = 0.25
Price leyel P =2
Nominal money supply M = 1200
Demand for money L = O.40Y _ 50i

(1) Write down the IS-LM equatfons.

(ii) What is the equilibrium level of income and
interest rate?
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(iii) Derive the fiscal and monetary Polic,

multipliers.

(iv) How much does an increase in governmep,
spending by 100 increase the income leve]
in the model, which includes the money
market? What will be the new equilibriyp

interest rate? (10)

(m)u@qmw%?_ﬂ@um“@qmaﬁ@
¥ ' 7
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(1) Pt s @
. IPI C = 100+0.8Yd

ORAT I - 400-50i

WH =494 G = 500

?a%rtéo.z's

AT & P =2

e @ s M= 1200 |
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I A WA L = 0.40Y ~ 50i
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4. (a) The nominal interest rate is 7%, today’s pficé level
is 150, and you expect the price level to be 156
from now. What is the expected inflation rate?

" What is the expected real interest rate? 4)

(b) Suppose the ratio of currency to checkable
deposits is 0.25 and the reserve ratio is 0.25, what
is the value of money multiplier? - (4

(¢) (i) Explain the concept of crowding out. Also,
explain the extreme cases with suitable
diagrams :

(a) Full crowding out

(b) No crowding out

P.T.O.
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(i) What are the automatic stabilisers? Explain

with the help of examples. (7,3)

(%) AT = W 7% 2, AN H Ied T 150 2, 3R
Wﬁaﬁwwwéﬁ%aﬁaﬁzaﬂ%?l e |

() T e s e ot A R A T
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(ii) R RaeTER o ¥ I o wew
q SR

5~' (a)_ What is a'GDP deflator? How .is;it different from

Consumer Price Index? 4)
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to the Quantity Theory

(b) Using the Fisher approach
ationship between the

of Money, explain the rel

quantity of money and price level. (4)

nsume is 0.9.

(c) @) The marginal propensity to €O
f the income-

The income tax is one-third 0
The government decides to increase spending
to increase GDP by Rs. 7 50 lakhs. How much
should‘governm‘ent spending increase? What

happens to the budget deficit?

(ii) Explain the effects of investment subsidy on

the equilibrium interest rate, consumption,

investment and GDP. Use suitable diagram..
| (5.5

@ () i IIN WaRke 09 1 AR A H TR
foers 31 W@R ¥ GDP qgW & fow @ 750
A T REe e 31 W wE T
mﬂ@??mq@mwm?

P.T.O.
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6. (a) Why do three methods of nationa] mcom

accounting yield the same measure of GDP? |

o

(b) The following financial market data is givren for‘;.
an economy (in rupees) : @ ,
Currency = 10,000
Reserves = .2,000

Deposits = 20,000

- Calculate the following':

(1) Size of the money multiplier
(i1) Monetary Base
(iii) Money Supply

(¢) (i) “With a decrease in the marginal propensity
to save, the IS curve will become steeper -

' Agree or disagree. Explain the answer.
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(i) Explain the impact of an autonomous decline

in investment on the overall demand in the
omy in the Classical Model with the help

(5,9)

ccon

of a diagram.
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7. (a) (1) Is it correct to say that to finance its currer

account balance, a country must increase 1(
}

Private Savings? Explain. 1

(ii) If a country has a current account deficit o
$120 million and a capital account surplus o
$80 million, what is the net change in it; _

~official .reserve assets? ~ (4

~ (b) What is the demand for Cerntral Bank money’
How is equilibrium determined in the market for
Central Bank money? S (4f

(c) (1) Suppose that the government follows a fisca
- policy such that an 1ncrease in government

spending is equal to the fall in transfer
payments Where

”;_')—-\,.,,__..

Consumption = 0.75
-Tax = 0.20

Income = 1000

Change in government Sspending = 20




Change in transfer payments = —2(

(a) Find the change in equilibrium income.

(b) Find the change in budget surplus.

(1) “As the demand for money becomes more
sensitive to change in income, does the LM
curve become steeper or flatter”. Explain your

answer. (5,5)
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P.T.O.
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I9HT = 0.75
X = 0.20
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